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	Page #
	Issue 
	Correction

	4
	Reversed upstream and downstream placement
	The wording should read: “A good example of vertical integration is the Ford Model T. Ford controlled its entire supply chain starting with the upstream iron mines, ships to move the iron ore, iron smelters, stamping presses, machine shops, and the downstream assembly areas.”

	204
	Wrong answer and explanation displayed for question 5.
	The correct answer is “C—Operations Stability.” The explanation should read: The House of Toyota consists of three pillars—just-in-time, jidoka, and a culture of continuous improvement. The three pillars lay on a foundation called operational stability.
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